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a.~ > Rshow ntp statusZEA L T, NTPAT—XANIIEFHEL TRRENDHESH 2k
#a L F£9, Routerttshow ntp status Clock is unsynchronized, stratum 16, no reference clock <<<
nominal freq is 250.0000 Hz, actual freq is 250.0000 Hz, precision is 2**10 ntp uptime is 47585900
(1/100 of seconds), resolution is 4000 reference time is 00000000.00000000 000 GMT Mon Jan 1
1900) clock offset is 0.0000 msec, root delay is 0.00 msec root dispersion is 7137.88 msec, peer
dispersion is 0.00 msec loopfilter state is 'FSET' (Drift set from file), drift is 0.000000000 s/s



system poll interval is 8, never updated.
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d.J1~¥ > RRouter#tshow Iogginga*adit)"Router#show iprouteZERA L THXAFIVIIL—TFT1>
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#show version

#show ip interface

#show platform

#show logging

#show ip route

#show nip status

#show clock

#show logging

#show ip route
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